5;98 é% Q %7 Multiplica decimales por potencias de diez

Nombre: Fecha: Puntuacion:
6,986 x 100 = 7,128 x 1000000 =
10,817 x 10 = 10, 354 x 10000 =
3,045 x 1000 = 6,751 x 100 =
5,171 x 10000 = 7,573 x 10000 =
5,075 x 1000000 = 5,032 x 1000000 =
5,187 x 100 = 6, 638 x 1000000 =
7,272 % 100 = 4,661 x 10 =
1,588 x 100 = 9,516 x 1000 =
9,34 x 1000 = 3,595 x 10000 =
5,166 x 100000 = 5,427 x 10 =
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°95 % é% § ﬁif} Multiplica decimales por potencias de diez

Nombre: Fecha: Puntuacion:
6,986 x 100 = 698.6 7, 128 x 1000000 = 7128000
10,817 x 10 = 108.17 10, 354 x 10000 = 103540
3,045 x 1000 = 3045 6,751 x 100 = 675.1
5, 171 x 10000 = 51710 7,573 x 10000 = 75730
5,075 x 1000000 = 5075000 5,032 x 1000000 = 5032000
5,187 x100 = 518.7 6, 638 x 1000000 = 6638000
7,272 x 100 = 727.2 4,661 x 10 =46.61
1,588 x 100 = 158.8 9,516 x 1000 = 9516
9,34 x 1000 = 9340 3,595 x 10000 = 35950
5, 166 x 100000 = 516600 5,427 x 10 = 54.27
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